INSTALLATION MANUAL

VENGEANGE BACK BUMPER

PRODUCT NUMBER: E4251
APPLICATION: 2019 DODGE RAM 1500

edn )\

' MADEGC IN THGC USA

www.4x40k.com

E




www.4x4o0k.com




SIN31INOJ 10 318V1



A MESSAGE FROM THE OWNER

Fab Fours’ was born out of a passion for customizing vehicles and a love of the outdoors. Our
engineering team uses the latest 3D design software to turn new product ideas into reality. In our
factory, designs come to life with the combination of cutting edge technology for metal cutting
and forming and an American workforce that puts its’ heart and pride into every product.

From design and manufacturing, to quality and delivery, Fab Fours’ mission is to be the market
leader for steel truck and jeep accessories. We make sure a quality product is delivered on time,
more than expected, better than expected to our customers.

Enjoy your new Fab Fours product. Welcome to the family!

FOUNDER, FAB FOURS

www.4x40k.com




GETTING STARTED

Before you begin the installation process of your new Fab Fours product, we suggest
laying out all materials and parts on a pad or protective surface.

Failure to fully account for all components before beginning installation may leave vehicle
immobile until part is acquired. Refer to the next pages as an inventory check.

0

www.4x40k.com




PROVIDED MATERIALS

TOOLS REQUIRED

e Plastic panel pry tool

IM
LED Light strip

¢ Flat head screw driver

¢ 5/8” socket wrench
61648 * 11/16” deep socket wrench

E4251-IM » 7mm socket wrench
e 10mm socket wrench
e 15mm socket wrench
¢ 16mm socket wrench
¢ Alcohol swab
® Rubber mallet

e Zip-ties

ASSISTANCE

We recommend two people

21778

perform the installation as items
are heavy and may need to be held
in place while installing.

HARDWARE KIT | 50169 ORGANIZATION

FAB FOURS COMPONENT Disassemble the vehicle where you

IDENTIFICATION DESCRIPTION can catalog and store everything.

50169-HW | 7/16"-18 x 1 1/2 ", yellow zinc, hex cap screw, grade 8 4 We suggest labeling and bagging all
the OEM bolts when removing from

50169-HW 7/16" yellow zinc, lock washer, grade 8 4 the vehicle. Failure to keep track of

50169-HW 7/16", yellow zinc, flat washer, grade 8 8 parts could lead to an inability to

- properly reinstall components.

50169-HW 7/16"-18, yellow zinc, hex nut, grade 8 4

50169-HW License plate nut insert, nylon 4

50169-HW | Snap-in Round Plugs with Flexible Ridges, for 0.710"- | 6 ASS'STANCE

0.820" ID

The 2019 Dodge Ram may have
six (6), four (4), or no sensors in
the rear bumper. This manual

shows the six sensor configuration
for illustration purposes but your
specific installation may vary.

www.4x40k.com




DISASSEMBLY

1. Using the appropriate screwdriver or socket,
remove the license plate.

2. Using a 15mm socket wrench, remove the
two (2) bolts behind the license plate (Figure
1).

Figure 1

3. Disconnect the rear bumper wiring harness
at the quick disconnect by pulling out on the
yellow lock tab (Figure 2) and extracting the
red lock bar from the housing (Figure 3).

www.4x40k.com




4. Using a plastic panel pry panel tool,
remove the wiring harness from the frame
rail. (Figure 4)

5. With assistance, hold the bumper
securely to the frame rail. Using a 16mm
socket wrench, remove the four (4) OEM
bumper nuts. (Figure 5)

6. Remove the factory bumper and set aside
for extraction of license plate lights, sensors,
trailer plug, and keyless entry module.

7. Disconnect the factory wiring harness
from all six (6) sensors, two (2) license plate
lights and one (1) trailer plug.

8. Using a 10mm socket, remove the two
(2) factory license plate lights and set aside.
(Figure 6)

Figure 5

Figure 6

www.4x40k.com




9. Remove the bumper stomp cover.
(Figure 7)

Figure 7

10. Using a 7mm socket wrench, disconnect
the factory wiring harness from the keyless
entry module and remove the module.
(Figure 8)

Figure 8

11. Remove all six (6) sensors from the sensor
housings by expanding both sides of the sensor
housing and lifting the sensor up. (Figure 9-10)
Set all six (6) sensors aside for reinstallation.

9

www.4x40k.com




NOTE: Sensors are extremely delicate and
must be handled with care! Do not push
on face of sensors to remove!

Figure 9

12. Remove the trailer plug by compressing the
two (2) chrome spring tabs and extracting the
plug from the bumper shell. (Figure 11)

Figure 11

www.4x40k.com




13. Using a plastic panel pry tool, remove the
factory wiring harness from the bumper shell.
Unclip the nineteen (19) ribbed shank push-in
rivets and three (3) panel clips.

NOTE: (Figure 12-13) shows the factory
components to be reused in your new Fab
Fours bumper.

Figur 12

Figure 13

11

www.4x40k.com




INSTALLATION

1. Install the factory trailer plug into the cutout
in the license plate area. Using a flathead
screwdriver, pop both the chrome spring tabs
into a lock position securely locking the trailer
plug (Figure 14)

2. Fish the factory wiring harness through the
bumper mount cutouts prior to installing the
sensors. (Figure 15-16)

Note: start fishing the harness by first
feeding the trailer plug connector through
the bumper mount on the driver side and
continue carefully feeding the rest towards
the passenger side. (Figure 15) indicates
with a white arrow where to insert the
trailer plug connector and start the fishing.

F)'gure 15

Figure 16

www.4x40k.com




3. Plug the trailer plug connector into the trailer
plug (Figure 17).

Figure 17

4. Using a flat head screwdriver, slightly bend
out the side tabs on all sensor cups to allow for
easy insertion and minimize possible damage
to sensor. (Figure 18)

Note: (Figure 19) shows the inside of
the driver side wing and is intended to
illustrate the sensor orientation for both
the inner and outer sensors on that side.
Both sensors in the passenger side will
install with the same orientation.

Figure 19

13

www.4x40k.com




5. Fully seat the sensor into the sensor cup.
Be mindful of the sensor alighment as viewed
from the outside of the shell. (Figure 20)

Note: The rubber seat of the sensor must
not be pinched or distorted in any way
for proper sensor installation. Failure to
use the rubber seat or pinching of the
sensor may result in false readings or
nonresponsive sensors. The sensor rubber
seat is indicated in Figure 20.

6. While holding the sensor fully seated in the
hole and sensor tabs aligned with the cutouts
in the sensor cup bracket, bend the sensor cup
bracket tabs back into place and tight to the
sensor body. (Figure 21)

7. Follow the same installation method for
all six (6) sensors being mindful of sensor
orientation.

Note: If your OEM bumper doesn’t have
all six sensors, then install the black plastic
plugs in the unused sensor holes.

8. Using a rubber mallet, align the plastic plug
and hammer handle square with the sensor
hole. (Figure 22)

Figure 20

Figure 21

Figure 22

www.4x40k.com




9. Firmly slap the hammer head with your hand
to seat the plastic plug in the hole. (Figure 23)

10. Using a 10mm socket wrench, reinstall
both license plate lights into the bumper using
the OEM hardware to secure the lights to the
bumper.

Note: Don’t over tighten the two (2)
factory license plate light bolts as you may
crack the plastic light. Only snug up the
light hardware. Locktight is recommended
for these two bolts

11. Reconnect the factory wiring harness to
all six (6) of the sensors and both license plate
lights.

11. Reconnect the factory wiring harness to
all six (6) of the sensors and both license plate
lights.

Note: Zip tie holes are provided in four

(4) places along the inside of the shell to
secure the factory wiring harness. The four
(4) locations are two (2) above the outer
sensor and two (2) on the license plate
light bolt plate. Outer zip tie location and
example shown in Figure 24-25.

Figure 23

i

Figure 25

19

www.4x40k.com




12. Prep the area shown below with an alcohol
swab and attach the provided red LED strip
(61648) in the location shown. Wire as desired
depending on functionality. You can either wire
to your brake lights, running lights or tag lights.
(Figure 26)

Note: LED wiring color codes:
® Red = Hot
e Black = Ground

13. Zip tie or secure the keyless entry module
to the frame located right behind where the
license plate mounts. (Figure 27)

14. With assistance, hold the bumper up to the
frame rail end while inserted on the frame rail
end pin.

15. Using a 5/8” socket wrench and 11/16”
deep socket, loosely install the provided four
(4) sets of 7/16” yellow zinc hex head bolt, two
flat washers, lock washer, and nut bolt stacks
into the driver and passenger side frame rail
end. (50169-HW) (Figure 28)

Note: Shown is the driver side frame rail
end. The passenger side frame rail end is
mirrored.

Figure 28

www.4x40k.com




17. Reconnect the factory wiring harness
main connector to the vehicle where it was
disconnected from in step 2 of the OEM
bumper removal and re-plug the ribbed shank
push-in rivets into the frame rail.

18. Insert the provided four (4) nylon license
plate nut inserts into the four holes on the
bumper. (Figure 29)

Figure 29

17

www.4x40k.com




THIS PAGE WAS INTENTIONALLY LEFT BLANK.






